13.1 Notes Sheet – Probability
1. How many outcomes are there if you roll 2 dice?  *(1, 3) is different than (3, 1).  Hint: use a slot diagram…

2. List all possible outcomes of rolling 2 dice and getting a sum of 7.

3. Calculate the probability of rolling 2 dice and getting a sum of 7.

a. Probability = = 


b. Probability of rolling a sum of 7 = 

4. Some vocab for you…
a. Random phenomena are: _______________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
b. Probability is: _______________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
c. An experiment is: _______________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
d. An outcome is: _______________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
e. A sample space is: _______________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
f. An event is: _______________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________

5. Example – you have 2 babies.  Both are girls!  List the sample space and the event.
a. Sample space (all possible outcomes):

b. Event (what happened):

6. Write the sample space (possible outcomes) for each experiment:
a. Roll 2 dice, the sum is 6:

b. Have 3 kids, more boys than girls:

7. 
	Theoretical Probability
	Empirical Probability

	

	

	

	

	Example: toss a coin 2 times – what’s the probability you get 2 heads?

	Use slot diagram … how many ways to toss coin twice?
____x_____=

List all possible outcomes:

	
Perform experiment – I toss a coin twice and get T, T.

	P(2 heads) ==
	P(2 heads) ==




8. Calculate the probability that ina family with 3 kids, 2 are girls.
a. List the sample space of having 3 kids (order matters)…

b. List all the ways the event, 2 girls, can happen:

c. P(2 girls) =  = 



9. Caluclate the probability you roll 2 dice and get a sum of 4.
a. Use a slot diagram to find the total number of outcomes in the sample space (roll 2 dice):

b. List all the ways the event, sum of 4, can happen:

c. P(sum of 4) =  = 



10. Calculate the probability yo u pick 5 hearts from a deck of cards.
*there are too many outcomes to list… use combinations!!

Event:  out of 13 hearts in a deck of cards, you are choosing 5 … how many ways are there to do this?

__C__ = _______ *n(E)

Sample space: out of 52 cards in a deck, you are choosing 5 … how many ways are there to do this?

__C__ = _______ *n(S)


P(5 hearts) =  = 

11. You roll 2 dice, what is the probability that you roll a sum of 8?



12. You randomly pick 2 cards from a deck, what is the probability that both are face cards?  (Hint: use combinations)
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